AAGBO  Answers to Selected Exercises

Exercise Set 5.4 5 - 5
T £ ED b =295 17 els Y st~ tin =i
1. sint = ﬁ cost = _ﬁ’ tant = _B’ csct = 3 Secl == 15,cotz‘ Yo 2. s 13s005 13’ an 5 sesc TE
sect = —%;cott = 1—52 3. sint = —%;cost = %;tant = —1licsct = —V2;sect = V2;cott = —1
4, sint=¥;cost=—%gtant=—1;csct=\/§;secz=-\é:colt=~1 5.% 6.% 7 ~i2§* 8. —% 9.0
10. 0 11=2 12. —ZT\/?_) 13. 23£ 14. 2 15. =1 16. 0 17. undefined 18. undefined 19. a. ? b. ?
Bal Rl e w-i oal AT ni s owve msol o el
\/_2 2 2 9 2 2 3 3 7l
5 2 2
b. 7 26. a. —'% b. —% 27. a. 0 b. 0 28 a1 b. 1 2. a0 b. 0 30. a. 0 b. 0 31 a. —%
b. —% SR, % s % 33..—2a 3.2 35,30 36. 2b 37.a—-b+c 38oat=b —¢ 39. —a—b+c¢

40. —a+b+c 41. 3a +2b — 2¢ 42, 2a + 6b + 2¢ 43. a. 12hr b. 20.3 hr ¢ 3.7hr 44, a. 12 hr b. 144 hr
¢ 9.6hr 455 a1 0 =10 051 b. 28 days 46. a. 10 ft; 14 ft; 10 ft; 10 ft; 10 ft; 6 ft b. low tide: 3 A.M., 3 PM., high tide: 9 AM.,9 PMm.

¢. 12 hr; Low tides occur every 12 hours and high tides occur every 12 hours. 53. makes sense 54. does not make sense
1 1= 1
55. does not make sense 56. makes sense 57..0 5851 59. —% 60. 171t 61. E; 0; —E; 0; 2 62. 0:;4;0; —4;0
M e
63. 15250 T > Ty

Mid-Chapter 5 Check Point

T T = %
: 13 St 375 47117
S 5w !
S. a 3 6. a = 7. a. 150
b ¥y y b.
—& 5 197§
HimtHH 5 1)
il 2SR
EEL VIREE 25 o
T 71
g‘»kﬁ_f‘\';_;_ g 1
SNsassamk vas! HHH
m m =
c 3 e ¥ c 30
8. sinf = %;cos() = Tll;tanﬂ = %;cscﬂ = g;sece = %;cote = —Sll 9. sinf = —%;0050 = %;tano = —%;csc@ = —
Vs 3 : 4 3 4 5 5 3 : 3 4 5
sec = 3 ;cotf = 10. sint = 5,cost——S,tan1»3,csct——Z,sect——3,c0tt-4 11. smo—g,cose—~g,csc()—3,
) 4 : 2V10 2V10 7V10 7 3V10
g=——; tg = — s = — ;( = — : = : == = —-— % L
sec 4 co 3 12. sin 6 7 an 6 3 csc 6 20 sec 6 3 cot 6 20 13. 52 cm 14. 809 m
Byl e 720 Spl e BVt e BB 5 BB . V2 0N el
3 3 2 3 2 3 2 3
26. —% 27. 8r cm =~ 25.13 cm 28. 1607 ft/min =~ 502 ft/min 29. 551.9ft 30. 40°
Section 5.5
Check Point Exercises
1 T
3 e : i
2 > 3. 2,47 4 3,7r,6
74 % 2RSS o e A
y = Ssinx BSHFH BT : :
A~y = sinx By =smep) 5 ’L\‘i ’l’\‘ T ‘.
o RN ASwA Y ims
| | W =y 117 - = \ =) 3=
e Gl SR EEERTAH
! 5 25 25 ! s
y=2smix y=3§in(2x——)




y=—4cosmx _v=%(.‘05(lt+71)

Exercise Set 5.5
1. 4 2.5

14. 2;2

y=-=3sin2mx

17. 1.2m 7 18. 1;2#:2

15.

19.

y=sin (2x — m)

Answers to Selected Exercises

8. y =4sin4x

5 y=2sin(%x —%)—f- 12

h=J

y=3sin2zx

161

AA61




AAG62

Answers to Selected Exercises

37. 4,1
r4
5
7
\ ]
i
T
et Easl
f -\
y=4cos2nx
1
41. ;6
2
2
| 1
73S -
251
U BOR
TRy
<
45, 3;m;—
2
4
1 I ll:
1
7
in
x
e s
y=3cos(2x—m)
T
49,307 —
Ty
X
..:.,:: b Bw:iirx
H
H5t 8

26. 3;m; —

.

]
H
1)
)
"

|
|
|

! p

§

I
&
g

30312

=

E

b 4

-
L]

N

S

y=—3sin

Q2ax + 4m)

y | 1
SN
| R
1 ]
Hx
AV
| ]
11 TP
y = 5 cos 2
1
42. 5;8
4
BSHHHH
- i =
I I I
{ t
251 I
=-=cosZ
y=-geosyx
w
46. 4,71;5
4
ITEN T
7
T
it
I,
B
\]
LY il
SEEiiinazis

y=4cos 2x—-m)

50. 4;m =

4
74
7 ﬁ:ﬂ’x
BARE EE.L IR
A
5t i

35.

.“‘

nY

5b.——4——<
y =2cos 2nx + 8w)

B Lo amA B A e
i I

8

y=3sin2mx +4)

32.3

.
4.
£
e i =
w
[«]
-}
;
=

:

5
;

fre
I
8
@
b

361

i)'

nY

1 T
48. 2,11, 2
¥
1 H
t 1

BEERESREE

y =3cos 2mx + 4m)




Answers to Selected Exercises ~ AA63

8.y S 5 8y 56.
O ﬁ:ﬁt SH-HHHHH 51
T3 1 1 i 1 ] 4
i RN S 3 AE , iNEK ; &8l ! 7
* I 21112 220
F-FF3wiInx = ~F 2T X = 257 x FEwdniax
L-‘a\ ¥ 7 i R | 2
e AEEREEEE st B —5f— H
y=sinx+2 y=sinx—-2 y=cosx—3 y=cosx+3
8=, e 59. - 60. :
BT ] EEEEREEESRE O I EE T
SHA §EEE e s A
AR NEarE A JdH
2 A x e —}— HH x +H-x
T 1% LN x SEEE EEEER i
=2t - s e
y=2§in%x+1 y=zcos%,+1 y=-3cos2mx +2 y = —3sin2ax +2

61. One possibility: y = 3cos(%x> 62. One possibility: y = 3sin(%x) 63. One possibility: y = —2sin(2x)

64. One possibility: y = —2cos(2x) 65. One possibility: y = 25in(%x) 66. One possibility: y = 2cos(~721x)
67. 68. 69. y 5 70. e
HH e - A 1 2 x
T = % Z ..‘ pRen X ‘l l’
1 H3H ! 4 LV
Eniaszassas EEsHHHH Bn_azamass
y=|2ms% y=l$cos%| y=—|3sinmx|
71 yih=f+g 72. y 73 y 74.
CH N S\ £ s
i { avh N NS
8 4R 20 A8 W\ HH .,
NN =4 mx
N Eaom
i s maEassEEEEES

75. 33 days 76. 28 days 77. 23 days 78. February 18 79. March 21 80. February 11 81. No 82. Answers may vary.

8. , 84. y 85.a. 3 b. 365 days ¢. 15 hours of daylight
16 H g St d. 9 hours of daylight
14 (M, 14) 5 38 e
12 z 234 V1 S
10 T : Qg = 16
3 = = 618\ * 8 MEAKH
EsEmssEaRE s S RESATENAH
JJASONDJ FMAM * Hours after noon B 104N
] . o S e o o |
= 0 73 146219292365 ¥
Day of the year
86. 56° July 87. y=3 cos7—T6£ +9 88. y= cos% +4
y
60
g 56
Z 2
g4
£ 4
2 @
36
s 32
< 28f
= :
1234567891012 %
Month of year
108 4 102. = 3 103 +
b/ LN ll =%
0 2 i 7 \/ \ = o|r_/ 40

-4 -3 =




	IMG_0007
	IMG_0008
	IMG_0009
	IMG_0010

